* Chung t6i cam két né Iuc h&t minh vi sy tin tudng, hop tae cla Qay khach hang.

Hy vong réing, frong thdi gian 18 chiang 161 rdt mong tiép tyc dudc dén nhan sy k‘!{) CONG TYATN HH XUAAT N HAP KHAU
dng hd nhiét thanh clia Quy khdch hang, dé Ia niém ddng vién fo I6n dé ching VITECH CONG NGHE VITECH

t6i tiép tuc n@ng cao chét lugng, dich vu nhém dap tng nhu cdu ngdy céing cac
clia Quy khéch. *

VISION t
AND "

SMART /
9 A54 Khu tai dinh cu LK19A, LK19B, X7, Ha Pong, Ha Noi TEC H NOLOGY

L 0948 699 579

Thiét bi va linh kién thang mdy Vitech

http://www.vi-tech.com.vn/home/




",

CONG TY TNHH XUAT NHAP KHAU CONG NGHE VITECH

CONTACT US \
O/

0865 253 588 0865 140 588

QBS 247 809 0867 182 588

T

| VITECH
| Visionand smart Technology

e

I .

Mot s6 hinh anh céng ty



MUC LUC

1. Tu diéu khién AS380 ThaiLand.........ccccsessursesseenen Trang 01

2. May kéo Torin Thailand

2.1 May kéo Torin khong hop R s Trang 02 - 03

2.2 Méy kéo Torin ¢6 hop $6...ovveeveverererrereene. Trang 04 - 06
3. Th i khien FIE Korea omsnmmnsanmmmaa Trang 07
4. May kéo Fuji Korea FJE

31 IV By e BTN ik disismiasnimishsarsonsans virsasmo Trang 08

4.2 May k£o FIEA0E csnsnaminnsmimnmiins Trang 09 - 10

43 Mavkeo FEIEZ0I ....omummmmmermarses Trang 11 - 12
5. Tu diéu khién Fuyi Thailand FIT - G Trang 13
6. May kéo Fuji ThaiLand FIT

6.1 My keo BIT325S saurmsmusmannansyaus Trang 14

6.2 Vi K80 BT oseasmmsmnmmsnmsnsmsis Trang 15- 16
7. Déu cira cabin & déu cira ting Ningbo NBSL.......... Trang 17
8. Biu cira cabin Ningbo Outling ..........co.ccoovevvceren. Trang 18
9. Bo khong ché tde do trén & dudi..................... Trang 19 - 20
10 R g ot T T Trang 21
11. Ty cip & Shoe din huéng cabin/ déi trong............ Trang 22
Doy VO FEEOR e e e it e Trang 23
13. Thanh an toan cam ung WECO ......cccocimniinirneisns Trang 24
14, Rail MArazzi......ccocevvmemimmemmmmmmimmesmmmmsmmmess Trang 25 - 26
R E 1 ) D e e U r A T oM e Trang 27 - 30

16, BREOEER  oinmmmrmsasonomaimassmamsrasoass B0 3

17, TRIEE DI HHAL .....ooooenimscissmcssionsssontusesensasensasnass Trang 32 - 33

Céng ty TNHH Xuét nhap khéu 1 nghé kitecﬁla

cong ty chuyén cung cép thiét bi, linh kién mék
Chiing t6i nhan thirc ring "Pgo dicc kinh doanh" 1a

yéu t6 cbt 16i anh huémg dén tinh nhan vén, sy séng con

v phat trién ctia cong ty. Bai viy, Vitech luén lya chon, |
phan phéi nhimg san pham c6 tinh thim my va chat
lrgng cao, gia thanh hop Iy nhdm dap tmg yéu ciu va \‘. .
nhu ciu khéc nhau ctia khach hang. —1

Vitech ton tai, phét trién, khing dinh vi thé cua
minh nho sy Iya chon khit khe va l,cét hop hm |
"Con ngwoi - San pham". Vitech hiéu rat ro

phuc vu chinh minh.

Vitech ludn luon nd lyc xay dung doi ngi
chpyén nghiép, san pham uy tin, chat lug
niem tin cho khach hang.

-4y

. - —

)

5




STEP

Control cabinet

MADE IN THAILAND

» MODEL : AS380

Rate power 22KW - 15KW T8.5KW - 22KW 30KW -3TKW E.SKW.-ZEI(W
Rate spead 52.5m/s s4m/s s 2.5m/s

Inverter
Power supply
Motar brake voltage pc1iov
Machineroom Machine room type
Maotor type Synchronous or asynchonous
Cabinet material Galvanized box
Package ‘Wooden box

Inetallation Ground mounted

SM.O4VR/K

SM.04VL16/L SM.04VL16/L SM.04TL/T

Vitech | 01

TORIN

Grearless Traction Machine

» MODEL: GTW7A

Voltage: 380V
Susoension: 2:1
FZD10 Brake: DC110V 2 x 0.84A (2 x 1.46A)
Weight: 190kg
Max.Static Load: 2000kg

GTW7A-31P0A
GTW7A-31PSA
GTW7A-31PEA
GTW7A-31PTA
GTW7A-41P0A
GTW7A-41P5A
GTW7A-41P6A
GTW7A41PTA
GTW7A-STPOA
GTW7A-51P5A
GTW7A-51P6A
GTWTASIPTA
GTWTAGTPOA
GTW7A-61PSA
GTW7A-61P6A
GTWTAGTPTA

Load LiftSpeed

(kg)

320
320
320
320
450
450
4350

550
550
550
550
630
630
630
630

(m/s)

1.5
1.6
1.75

1.5
1.6
175

1.5
1.6
175

1.5
16
175

Sheave
Diam(mm)
©325
325
©325
325
©325
©325
©325
©325
©325
©325
©325
0325
©325
©325
®325
®325

Rope Sheave  Current

(mm)

Ix08x12
3x08x12
30812
3x8x12
4xd8x12
Axb8x12
4x98x12
Ax08x12
Sud8x12
5x@8x12
Sxd8x12
5x®8x12
Sx®8x12
Sx®8x12
SudBx12
Sx®8x12

(&)

63

89
94
94
83

19
137
137
86
124
143
143
9.6
139

16

MADE IN THAILAND

Torque
(Nm)

atedSpeed  Frequency Power
(kw)

(rpm)
18
177
189

206
18

189
206
118

189
206
118

189

(Hz)

ns
472
50.4
54.9
ns
472
0.4
549
ns
472
50.4
54.9
315
47.2
50.4
549

25
337

43
33
49
52
57
36
54
57
6.3

6.4

32
32
32

32
32
32
32
12

32

32
32
32
32

Rating

S5
S5
S5
S5(
S5

55(40%)
S5(40%
S5(40%)
S5(40%)
S5(40%)
S5(40%)
S5(40%)
S5(40%)
§5(40%)
S5(40%)
S5(40%)

8883888

INS.Class 1P Code

IP41
IP41
P41
IP41
IP41
P41
P41
P41
IP41
P41
P41
IP41
P41
P41
P41
P41

M Tm M T MMM MMM M MMM M m T

02 | Vitech



TORIN — TORIN re

Grearless Traction Machine MADE IN THARLAND. Grearless Traction Machine MADE IN THAILAND

» MODEL: GTW9S » MODEL: YJ125

Voltage : 380V
Suspension: 2:1

Brake : DC110V 2x1.0A
Max.Static Load : 3000kg

Suspension:1:1
Max.Static Load : 2000kg
Control : VWVF

Brake: DC1101VA
Weight : 195kg

=450
=175
[
| 1 = @
g ' M | 1
! ] - =
! 20 !
215
30
T b
120 4972
S Load Lift Speed Height Sheave Rope Sheave  Cument Power Pole Ratng [NS.Class [P Code \ ¥
PEC (@ (ws) (m Damfm  (nm) ® (o) i
GTW9S61POA 630 1 <80 400  4x010x16 9.7 389 96 256 39 32 S5(40% F P4l i R
GTWIS61PSA 630 1.5 <80  ©400  4x010x16 149 420 144 384 63 32 S5(40%) F  IP41 A
GTWOS6IP6A 630 16 <80  ©400  4x010x16 149 420 153 408 67 32 S5(40% F P41
GTWOS-61P7A 630 175 =80  ®400  4x010x16 159 420 167 445 73 32 S5(40% F P41 165
GTW9S-62P0A 630 2 <80 ©400 4x010x16 183 420 192 512 B4 32 S5(40%) F P41 The dimension of mounting hole
GTWIS81P0A 800 1 <80  ®400  Sx01016 121 502 9% 256 50 32 S5(40% F  IP41
GTWOSBIP5SA 800 15 <80  ©400  S5x010x16 188 530 144 384 B0 32 S5(40%) F  IP4l
GTWOS81P6A 800 16 <80  ®400  S5x010x16 188 530 153 408 85 32 S5(40%) F P41
GTWOS81P7A 800 175 <80 @400  5x010x16 207 530 167 445 93 32 S5(40% F P41 5 ; 7
GTWOS82P0A 800 2 <80 400  Sx010x16 232 530 192 512 107 32 S5(40% F P41 Lift Speed Ratio Sheave Diam Rope Sheave Motor Power
GTW9S101P0A 1000 1 <80 ©400  Sx010x16 147 604 96 256 61 32 S5(40%) F P41 (m/s) (mm) (kW)
GTWOS101PSA 1000 15 <80  ®400  5«010x16 229 650 144 384 98 32 S5(40%) F P41
GTWISTOIPGA 1000 16 <80  ©400  5Sx010x16 229 650 153 408 104 32 S5(40%) F  IP41 400 0.65 37:1 ©520 3xd13x20 3 4
GTWOS101P7A 1000 175 <80  ®400  Sx010x16 251 650 167 445 114 32 S5(40%) F P41
GTW9S-102P0A 1000 2 <80 400  Sx010x16 282 650 192 512 131 32 S5(40%) F P41 400 i 37:1 D520 3Ixd13x20 4 4

Vitech | 03 04 | Vitech



= |
TORIN ]
Grearless Traction Machine m

» MODEL: YJ250A

Suspension:1:1

Max.Static Load : 7000kg

Control : VVVF

Brake : DC1102VA

Emergency Brake: AC220V 0.24/0.12A
Weight : 710kg

-l
310
=B10

Handwheel eel
{For motor <1 5kW-VF-6F)

Load Lift Speed Ratio Motor Power

Sheave Diam Rope Sheave
kg)  (m/s) (mm) (mm) (kw)

1500 1 63:2 ®620 7x®13x18 1918.5

Handwhi
(For motor 18.5kW-VF-6P)

Pole

TORIN

Grearless Traction Machine

» MODEL: YJ275A

Suspension:1:1

Max.Static Load : 9000kg

Control : VVVF

Brake : DC1102VA

Emergency Brake :AC220V 0.24/0.12A
Weight : 1000kg

Vitech | 05

MADE 1N THARLAND

Handwhes!
(AR mcecn Ror e mator o the Fight)

2
)

=,/ A Ts‘
L[] =] I

Load Lift Speed Rato  Sheave Diam Rope Sheave
(kg) (m/s) (mm) (mm
1150 0.5 591 @650 6x®13x20
1150 1 59:2 ®650 6x®13x20
1150 1.25 49:2 650 6xP13x20
1150 1.6 59:2 ®650 8x®13x20
1150 1.75 57:2 ®650 8x®13x20
1150 2 49:2 D650 8x®13x20
1250 0.5 59:1 ®650 6xd13x20
1250 1 59:2 ®650 6xd13x20
1250 1.6 59:2 ®650 8x®13x20
1250 1.75 57:2 ®650 8x®13x20
1250 2 49:2 ®650 8xd13x20
1350 0.5 959:1 650 6xP13x20
1350 1 59:2 ®650 6x®13x20
1350 1.6 59:2 D650 8x®d13x20
1350 1.75 57:2 D650 8x®13x20
1350 2 49:2 ®650 8xd13x20
1600 0.5 59:1 D650 8x®13x20
1600 1 59:2 ®650 8x®d13x20
1600 1.6 59:2 ®650 8x®13x20
1600 1.75 57:2 ®650 8x®13x20
1600 2 49:2 »650 8x®13x20

Handwheel
(For motor =26KW-VF-4F or
F1RE KWAT-6P)

Motor Power Pole
(kw)

]
o))
bbb bhbhbhOoObbEhOoOO

06 | Vitech



Y g
FJE ‘e’
Control cabinet MUADE 4 KORER
» MODEL: FJE-C
FUJI
Jo
|
[ 30 _|
OPTION Model Series Voltage Power range Origin
008: 8.3kW
‘White
017: 17TkW
FIE-C 4: 3 Phase 380V K: KOREA
022: 22kW
Green
037: 37TkKW

MCTC-CTW-B3S

MCTC-HCB-D735S

Vitech | 07

MCTC-COB-B1S

X

MCTC-HCB-D6358

MCTC-HCB-D6355X

Vg
FJE ‘o)

Gearless Traction Machine

» MODEL: FJE325

Traction Ratio: 2:1

Rated capacity: 320 - 500kg

Rated elevator speed: 0.63, 1.0, 1.6, 1.75m/s
Max. shaft load: 2200kg

Applicable converter: 3 Phase 400V

Brake voltage: DC110V

Number of motor poles: 20 poles

Insulation: F

Capacity Elevator  Rated Rated Rated Frequency Sheave Poles Torque Ropes Weig_ht Load
(ka) Speed  Output Cument  Speed {Hz) Diameter (2p) (N.m) (ka) (kg)
320 0.63 1.3 38 73.8 123 325 32 170 | 3xw8x12
320 10 2.1 56 | 117 195 325 | 32 | 170 | 3xe8x12 220 320
320 1.6 3.2 6.5 187.8 313 325 32 170 | 3xw8x12 w0
500 063 | 2 48 | 738 123 325 | 32 | 260 |4xe8x12
500 1.0 32 68 117 195 325 32 260 | 4xosx1zl 23 2K
500 16 52 1.2 | 1878 313 325 | 32 | 260 | 4xesx1

08| Vitech



FJE

Gearless Traction Machine

» MODEL: FJE400

Traction Ratio: 2:1
Rated capacity: 630 - 1000kg

Rated elevator speed: 0.63, 1.0, 1.6, 1.75m/s

Brake electric current: 2 x 1.35A

Applicable converter: 3 Phase 400V

Brake voltage: DC110V
Number of motor poles: 32 poles
Insulation: F

&30

Y g™
Q.@

MADE IN KOREA

MAX(kg) L1 L2 L3 c D E B
630 340 305 204 102 400 61 15
800 340 305 204 102 400 61 15
1000 340 305 204 102 400 61 15
1150 355 330 217 111.5 400 63 15

Vitech | 09

FJE e

Gearless Traction Machine MADE IN KOREA

FJE400 - N630/1000 ELEVATOR TRACTION MACHINE

Capacity pevatos fred Frequency Shewe Poles Torque Load Traction
(ke) Speed Speed (Ha) Diameter 2p) (Nm) ;
(m/s) (rpm) (mm)

630 10 9% 256 400 32 420 4x@10 330 432 630 2]
630 16 153 40.8 400 32 420 Ax@10 330 6.7 630 1
B30 175 167 44.5 400 32 420 @10 330 73 21
630 0 192 51.2 400 2 a0 410 30 ad 630 1
800 0.63 0 16 400 32 530 @10 330 33 630 =1
800 10 9 25.6 400 32 530 Sx@10 330 53 630 21
800 16 153 40.8 400 32 530 Sud10 330 85 &1
800 175 167 44.5 400 32 530 Se@10 330 93 630 &1
800 20 192 51.2 400 32 530 Sx@10 330 107 1
1000 063 &0 16 400 EX) 650 Sx®10 350 41 1000 &1
1000 10 96 25.6 400 32 850 Se@10 350 6.5 1000 1
1000 16 153 40.8 400 32 650 Sx®10 350 104 1000 1
1000 175 167 4.5 400 2 650 Sx®10 350 114 1000 1
1000 20 192 512 400 32 650 Su@10 350 131 1000 1
1150 0.63 60 16 400 2 756 Ex®10 380 47 1150 21
1150 10 96 5.6 400 32 756 Bu®10 380 7.6 1150 21
1150 16 153 40.8 400 32 756 Bed10 380 121 1150 1
1150 175 157 44.5 400 32 756 B 10 360 132 1150 &1
1150 20 192 51.2 400 32 756 B0 380 152 1150 1

10| Vitech



FJE ‘e} FJE 9,

Gearless Traction Machine MADE IN KOREA Gearless Traction Machine MADE IN MORER

mm

» MODEL: FJE200 | o i

FJE200 320-0.4A 320 o4 200 xdx12 1 o9 76 152 110 24 430 100 100.5
380 2
Volta ge: 220V/ 380V FE200 400-0 400 04 200 axexz [ 20 5 R 7 | 152 | 140 24 a0 | 100 | 1008
;| | 3
i W * 20 | &
Roplng' 2'1! 1'1 FJEZDO A50-0.4A 450 o4 200 A w12 1 12 76 152 150 24 430 100 100.5
380 4
Wrap: Single |
FJE2D0 320 o4 z40 Fxdx12 o9 &4 128 130 24 430 100 100.5
Wlv. Load: 320 ~ 450kg s
" 220 [
Elv. Speed, 0.4m/s FUEZDD a0a 04 za0 axexiz | 11 [ 128 180 24 430 wa | 008
380 3
Sheave Diam: 200mm/ 240mm w | 7 |
FJEZDO 450 o4 240 Ax®x12 12 &4 128 180 24 430 100 1005
. 380 5
Duty: S5 - 40% ED
20 5
. FJE200 320 04 00 AxdxIZ 1 08 a8 (AL Fraid m 520 150 1oL
Starts Per Hour: 180st/h W | 3 .
H . e 1 5 | |
Max. Static Load: 2500kg FE200 so04c| 400 04 200 Sx@xi2 LB n 53 270 18 520 | 150 | 1105
380 4
i . 1 )
Weight: 160kg wo |
FE200 ‘ 450 04 200 Sx@xi2 | 12 0 51 304 i 520 | 150 | 1105
Brake: DC110V 2.5A w | s
220 &
IP Cnde: |P4'| FJE200 EFL] o4 z40 AXBNIZ E] az a3 260 1" 520 150 1105
380 4
Ins. Class: F z | 7
FJE200 400-0 40 400 o4 F40 Sx®x12 1 1.1 32 43 320 16 520 150 1105
380 s
2 L]
FJEZDO 450 o4 240 Sxdx12 12 az 43 L 1w 570 200 1105
280 &
FJE200 ag0084 320 o5 320 axes1z | 300 4 1 s 12 170 24 a0 | 1we | 1005 o
2 |
FJE200 320 oe3 220 Axex12 380 4 13 ‘ 75 15 1o 24 430 100 1005
FJE200 220-1.0A 320 10 320 eI 380 & 21 ne 238 17o 24 430 100 1005
|
FUE200 400054 400 08 320 axex12 | s s 14 0 12 220 24 s20 | 150 | 1108
|
FJE200 | 400-0 634 400 083 a2 A 12 a0 5 ir s 18 @0 24 20 180 108
|
FUER00 400104 400 10 320 axex1z | 380 8 27 ‘ e | 238 | 2w 24 s20 | 150 | 1105
I |
FJEZ200 A50-0.5A 450 0s 30 Axdx12 380 L] 15 &0 1z 240 24 520 150 1nos
— | | | |
FJE2DO 4850 el 320 Ax® 12 380 L3 19 ‘ 5 18 240 24 B20 180 108
- FJE2DO A50-1.0A 450 10 320 Ax®x13 3RO L] 3 19 238 240 24 s200 150 1105
I i
|
FJEZDO $30-0.5A &30 os 320 Exdx12 380 B 1 &0 1z 340 24 570 200 1105
| | |
1 2 g FJE00 |sso0s3s] 830 063 30 Sx@x12 | 380 [ 27 75 15 340 24 570 200 | 1108
1 ) |
Lm | -l
—T I FJE200 &30-1.04 630 10 20 Sudx12 380 n 432 ns 238 340 24 E70 200 1as
i} | ¥ L5
L FJE200 6301 54 &30 15 320 Sx®x12 380 16 64 179 358 340 24 570 200 105

Vitech | 11 12 | Vitech



FUJI — FUJI —

Control cabinet VAADE IN THAILAND Gearless Traction Machine MADE IN THAILAND

» MODEL: FJT-C » MODEL: FJT320

= Rated Volgate: AC 380V

= Brake Voltage: DC 110V

= Compact structure, smaller size, applicable to
various machine rooms;

» Self- sealing bearing, bearing life is long;

» Low vibration, low noise, good comfort;

= Epoxy resin casting process, better heat dissipation,
better dust resistance better shock resistance.

- B450 DIMESION DRAWING

2.2KW - 15KW T18.5KW - Z2KW J0KW - ITKW 5.5KKW - 22KW
= 2.5m/s =4m/s 5 2.5m/s

AR

pchoy
Machine room type

Synchronous or asynchonous
Galvanized box
Wooden box
Ground mounted

Capacity FElevator Rated Rated Rated Frequency Sheave Poles Torque Ropes
(kg) Speed Power Current Speed (Hz) Diameter (2p) (N.m)
(m/s) (kW) (A) (rpm) (mm)

MCTC-CCB A MCTC-CTBB

450 0.5 1.5 5.5 60 14 320 28 239 4xD8  2:1

450 1 3.3 85 119 278 320 28 241 4xP8  2:1

450 1.5 43 11 179 418 320 28 229 4xP8 201
MCTC-CTB B MCTC - HCB - T1 MCTC - HCB- D2

450 2 4.6 11 191 44.6 320 28 230 4xp8  2:1

Vitech | 13 14 | Vitech



—— —
FUJI — FUJI e
Gearless Traction Machine m Gearless Traction Machine m

» MODEL: FJT400

* Rated Volgate: AC 380V

- B630/1050 ELEVATOR TRACTION MACHINE (ROPING 2:1)

Capacity Elevator Rated Rated Rated Frequency Sheave Poles Torque Ropes Trace

» Brake Voltage: DC 110V (kg) Spﬂ-q P_owf-_r (.‘u_rrlenl .*._ipeur.l {(Hz) Di_amet(:r (Zp)  (N.m) Ratio
- OGS SR (m/s) (kW) {A) {rpm) {mm)

Vamm*,' i mtm e 630 1.0 42 11 96 32 400 40 333 4xd10 2:1
« Self- sealing bearing, bearing life is long; 630 1.5 6 15.5 144 48 400 40 332 4xd10  2:1
* Low vibration, low noise, good comfort; 630 2.0 7 17 192 64 400 40 332 4x®I0 2:1
* Epoxy resin casting process, better heat dissipation, 800 1.0 5.0 13.7 96 32 400 40 498  Sxd10 21

Dether' dust reshtance: bethershock resistance. 800 L5 78 20 144 48 400 40 517 Sxdl0 21

800 2.0 10.5 26.5 192 64 400 40 522 5xdl0 21
1000 1.0 6.15 17.1 96 32 400 40 612 Sxd10 21
1000 5 92 243 144 48 400 40 610 5x®10  2:1
1000 2.0 123 3l 192 64 400 40 612 Sxdlo 21
1050 1.0 6.4 17.8 96 32 400 40 637  S5x®@10 21
- B630/1050 DIMENSION DRAWING 1050 1.5 9.7 252 144 48 400 40 642 Sxdlo 2:1
1050 20 12,9 327 192 64 400 40 633 Sxdl10 21

(18]

1

Vitech | 15 16 | Vitech



FJE

Gearless Traction Machine

» MODEL: FJE100

Voltage
Roping
Wrap
Elv. Load
Elv. Speed
Sheave Diam
Duty
Starts Per Hour
Max. Static Load
Weight
Brake
IP Code

Ins. Class

380V
2:1
(Single)
(320~630) kg
(0.5~1.75) m/s
320mm
S5 - 40%ED
240st/h
2500kg
250kg
DC110V 2x1.3A
P41
F

Vitech | 17

#3710

N

s — - —

ﬁf:f:f:ﬁﬁ;z?{"
[°

4
L)

LI

FJE ‘e

Gearless Traction Machine

FJE100 320-0.54 Ix08x12

FJE100 320-1.0A 320 1.0 IxEx12

FJE100 450-05A 450 4x@Ex12

FJE100 450-1.04 450 1.0 4xD8x12

FJE100 450-1.75A 450 1.75 4x®8x12

FJE100 630-0.63A 630 063 Sx®Bx12

FJE100 630-1.54 630 1.50 Sx08x12

FJE100 630-1.75A 630 SxEx12

18 | Vitech



FJE ‘e FJE ‘e
Gearless Traction Machine © MADEIN KOREA Gearless Traction Machine MADE IN KOREA.

» MODEL: FJE200

Veliage 380V Tpe S Bulowd fvpeed ShemeDia SheweGoove Curent Powsr Speed Freq  Tomue Poes  UnimaAngle
I I T

FJE200 630-0.5A Ax@10x15 6 288 695

FJE200 630-1.04 4x010=15 0 288 €95

FJE200 630-1.64 4x@10x15 16 288 €95

FJE200 630-204 630 20 A00 4x010x15 288 €95

FJE200 BOO-0.5A4 80O 05 400 5=010x15 288 695

FJE200 800-1.04 800 1.0 400 Sx@10x15 288 €95

FJE200  800-1.6A Sx@10x15 288 €95

FJE200 800-204 800 20 400 5x®10=15 23 288 €95

FJE200 B800-25A 800 25 400 6x10x15 28 300 755

-—---—-------- s

FJE200 1000-0.5A 1000 0s 400 Sx@10x15 288 €95

Roping 27
Wrap (Single)
Elv. Load (630 ~1150)kg
Elv. Speed (0.5~2.5)m/s
Sheave Diam 400mm/450mm
Duty S5 - 40%ED
Starts Per Hour 240st/h
Max. Static Load 4000kg
Weight 350kg
Brake DC110V 2x1.3A

IP Code P41
FJE200 1000-1.0A 1000 1.0 400 5x@10x15 15 288 695

FJE200 1000-1.6A 1000 1.6 400 5x010x15 26 288 €95

Ins. Class E

FJE200 11530-1.64 1130 16 6x010%15 12 153 40.8 TE0 32 300 755

FJE200 1150-20A 1180 20 GuP10x15 EE] 55

Vitech | 19 20 | Vitech



NINGBO NINGBO

NBSL MADE I CHINA NBOL MADE IN CHINA

» MODEL: HDO - 01V » MODEL: OMJ - 100B

- Product Name: 2 Panels Center Opening Door Operator (VVVF) + Product Name: Leafs Center Opening Permanent Magnet Synchronous
Door Operator

600 680 700 750 800 850 200 950 1000 1050 1100 1150 1200
L ] L
prirengy o 1180 1280 1380 1480 1580 1680 1780 1880 1980 2080 2180 2280 2380
AL 175 200 225 250 275 300 325 350 s 400 425 450 475
BaL 8901020 9401070 8801120 1040M170 10801220 1140MZ70 11901320 12401370 12801420 13401470 13901520 14401570 14501620
Inverter(Optional):

OLYF200-1 NICE-D-A-S0P4-0L2

Installation Attachment:

> MODEL- HLD = 01T 1. For Car Top Installation 2. For Car Front-Wall Installation

» Product Name: 2 Panels Center Opening Door Device (Traditional Type) )’ ,*\-\\ //
11 12 13 21
Car top instaflation brackets Strengthened instaation bracket Fixing pipe for car top installation{optional) Car front - wall installation brackets
Drawing MO: M1002042 Dirawing NO: M1002046 Drrawing NO: OMU0T-03 Drawing NO: M1002049
3. For Straight Beam Installation - .

| | | ;
ATL | 1240 | 1340 | 1440 | 1540 | 1640 | 1740 | 1840 | 1940 2040 27140 | 2240 2340 2440 | 2540 2640 | f:;ummm sai:mﬁa-mmmmwm xMMIMMM gi:hbmm'whmm
L - - - . . . . - . - . . - - - d Drawing NO: OMJ01.230 Drawing NO: M1002015/ M1002012 Drawing MO: OMJO01.26 / OMJ01.32 Drawing NO: M1002025

Vitech | 21 22 | Vitech



GOVERNOR

MADE IN CHINA

» MODEL: HGO 240

- Product Name: HGO 240 Governor Non - Return

Technical: Specifications

Rated capacity: 630 - 1000kg
Rated speed: V= 0/25 ~ 2.5m/s
Rope Dia: ©8mm
Sheavediameter: ©240mm

Rope tension Force: 500 ~ 1500N

n
e
|
L
*
-
1

o,
Ll
S
¥
r

F

1
-
ki
1ifii

-
=

- Description:

This Governor For Configuration Of Gearless Traction Machine
This Governor Is Adapted To HTD240, HTD260 Tensioning Device

- Technical Parameters

1 HGO 240.20 Wire Rope Fitings 1
2 Wire Rope Fitings 2
3 Retainer Clip ®8 6
4 GB/T5783 Hexagon Bolt M8 4
5 Expansion Bolt M12x100 4

Vitech | 23

TENSION

MADE IN CHINA

» PRODUCT NAME: HTD260/260A

« Product Name: HGO 240 Governor Non - Return

. Description:

A Heavy Block 11kg Suitable For Lifting Beight Of Lift = 60m
A Heavy Block 16kg Suitable For Lifting Beight Of Lift > 60m
This Tension Device For The Weights Of The Side - Mounted And B Siez Adjustable

-

200
okl

» PRODUCT NAME: HTD240

- Description:

A Heavy Block 11kg Suitable For Lifting Beight Of Lift < 60m
A Heavy Block 16kg Suitable For Lifting Beight Of Lift > 60m
This Tension Device For The Heavy Piece Of Straight Type

— T e
; URE == =
180, 230, 280 IR |
o - L

24 | Vitech



PROGRESSIVE SAFETY GEAR
(HSG - 800)

» PRODUCT NAME: HSG - 800

‘.-

- Technical Specifications:

Rated Speed: V =0.25 ~ 2.5m/s
(P + Q) Allowable gross mass( P + Q): 1200 ~ 4000kg ‘_
Width Guide Rails: 10.16mm

:--.., _jl;:r' :r‘ﬁ;i Alignment Pin
1) O 1
I 1

siee S i 3 h 4- '—'j “Movable Wedge Side

-4

o H— 4-M16
Mounting Bolt

Lower Beam Clamp Mounting Plate

164

- -

— 1&010)

3 _4.5

225

- List Of Atachments

Part name Size

Safety
Tappet
Torsional Spring
Elastic Cylindrical Pin 12x40
Pin Roll
Switch To Play Pole
Adjusting Shim
Cotter Pin 3x20
Gasket

= - - S o L

>
A
5
5] i
B I
= :
. . | =]
5 ol o F o w
Y i
b w!
=+
48
Quantity
1
i
1
4
2
1
2
4
2

Vitech | 25

ROPE FASTENING
& GUIDE SHOE

» MODEL: QSD

1

Model number Specification Of Wire Rope Length Length Of Taper Bushes ‘ ‘Width Of Taper Bushes

HRFE we 7 160 a8 026

HRF9 @93 395 180 54 @26

HRF10 810 430 180 54 226

HRF11 en 490 180 54 26

HRF12 @12 510 200 60 @26

HRF13 @13 580 218 62 @30

HRF16 @16 620 190 76 azz
* Product Name: Guide Shoe (Hollow Track) - = _ o

A L
Serial NO: HSG09191 : =1 _ ; M )
Technical Parameters al 4 | el ) .
Rated Speed <2.0m/s e ) || I R S (SRR R R
Guide Rail Width 10, 1T6mm L _ ! [T
* Product Name: Guide Shoe (Hollow Track)
Serial NO: HSG09192 ST P oo | 00 A | 116
| = | L
Technical Parameters o == oz W W
Rated Speed <2.0m/s = i i e S N 0 B
G4 740 o0 Abd

Guide Rail Width 10, 16mm L~ |

* Product Name: Guide Shoe (Hollow Track) =T L 1
Serial NO: HSG09193 i )
Technical Parameters g 8
Rated Speed <2.0m/s i
Guide Rail Width 10, 16mm Bl

T

MADE IN CHINA

26

2
R

Installation | Screw nut

M14
M14
M16
M16
M16
M18
Mz0

Vitech



: @y.%_\
STEEL WIRE ROPE SERIES | » &

»FJ STEEL WIRE ROPE

- FJ - 8X19S - Hemp Core

Rope Diameter Minimum Breaking Unit Weight Metal Sectional
Force Area

8* 316 222 23

9 40 28.1 29.6
10* 494 347 36.5
% 59.7 42 442

12 AR 50 52.6
13* 834 58.6 61.7
16* 126 88.8 93.5

Vitech | 27

PHOTOCELL WECO A61/B71/A71

» MODEL: WECO

MADE IN CHINA

Car Wall Car Door

Lk

$3. 2

_...l_

i f

! | 3 .
10

Car Wall Car Door

& By

28 | Vitech



RAIL MARAZZI RAIL MARAZZI

MADE [N CHINA
4 E LEVATO R G U I D E RAI L » Guide Rail Technical Parameters

Tk3 Hollaw Guide Rail T5mm*55mm*1 0mm 220%7 2*A0mm Ma*25 5K
TK3A Hollow Guide Rail TBmm*e0mm*16.4mm 200*78*50mmy M10*35 5K
TkS Hollow Guide Rail B7mm*60mm*16.4mm 400*88*59mm M12*35 5K
TKSA Hollow Guide Rail 78mm*60mm*1 6.4mm 200*78*50mm Ma*25 5K
T45/A Cold Draw Guide Rail 45mm*45mm*Smm 160*50*8mm M8*25 T1
TS0/A Cold Draw Guide Rail 50mm*S0mm*1 &.4mm 200*50*8mm M12*35 T

T70/A Machined Guie Rail FO0mm*65mm*2mm 250%70%1 Omimy M12%35
T70-1/A Machined Guie Rail FOmm*&5mm*Imm 250*70*1 0mm M12*35 BK
T75-3B Machined Guie Rail 75mm*62mm*10mm 240*75*10mm M12*35 BK

q & = 2> NP 0‘ @&&
- 'f> *'-} S_&v » T78/B Machined Guie Rall T8mm*56mm*10mm 240*75*10mm M12*35 8K

T82/B Machined Guie Rail B2.5mm*68.25mm*¥mm 216*80*1 0mm M12*35 13K
TE2Z-3/B Machined Guie Rall g2Zmm*6Zmm*16mm 216*80*10mm M12*35 13K
Ta%-1/B Machined Gule Rall BImm*62mm*1 6rmm 305*90*1 3Imm M12+35 13K
T89/B Machined Guie Rail BImMm*6Zmm*16mm 305*90*13mm M12*35 13K
T90/B Machined Guie Rail 90mm*7Smm*16mm 305*90%13mm M12+35 13K
Code mm mm mm mm mm mm mm mm mm mm mm mm mm MM mm mm mm  mm  mm T114/B Machined Guie Rail 114mm*B9mm*16mm 305*130%1 7mm M16%45 18K
Tolerances +1.5 +075 01 0.1/0 +3/0 +0.75 +075 #0.06/-0 $0/0.06 +0.1 01 +3/0 +02 02 102 T127-1/8B Machined Guie Rail 127mm*B9mm*1 6mm 305%130%1 7mm M16*46 24K
P70 TIO/B 70 65 B4 9 a4 [ 6 8 15 3 295 85 | 8 (1280 13 26 42 105 | 25 T127-2/8 Machined Guie Rail 127mm*BImm*16mm 305*130%17mm M16+47 24K
RP7S T753/8 75 62 &1 10 30 8 7 9 3 3 295 35 3 123 13 26 43 90 30 T140-1/B Machined Guile Rail 140mm*108mm*1 9mm 380*140*25mm M20*65 30K
RO78 78 5 55 10 2 7 & |85 3 3 205 35 3 123 13 26 43 00 30
RP82Z  TB2/B 825 683 666 9 254 75 6 825 3 3 295 35 | 3 111 13 26 508 81 | 27 . Fish Plate Technical Parameters
RPB9 Te9/B 89 62 61 1588 334 10 79 A 3 64 637 774 635 156 13 26 572 1143 38 : 3 | 3| 7 Waight
mm mm mm mm mm mm mm mm em* cm* ka/pes size
RPBO-1  TES1/B 89 62 61 1588 334 10 7 10 3 3 295 4 (35 156 13 26 S72 1143 381
Tolerances £1.5 102 %15 +02 02 0.1
RPSO T9/B 90 75 74 16 42 10 B 10 4 64 637 704 635 156 17 26 572 1143 38 RP7S i 26 75 43 240 i 20 61 929 7.06 21 M1ZX35
RPT8 13 26 78 43 240 90 30 55 756 871 18 M12%36
RP114 114 889 88 15BE 3@ 95 79 1A 4 6.4 6,37 774 B35 156 17 33 794 1143 3\ RPEZ 13 26 B25 508 216 81 27 66.6 102 74 1.36 M12X37
RPEY 13 26 89 572 305 1143 38.1 61 1425 18 38 M12%38
RP125 TIZ5/B 125 82 81 16 42 10 9 12 4 64 637 714 635 156 17 33 794 1143 38
RO 13 26 90 572 305 1143 381 74 2085 18 4 M12X39
RP127-1 T127-1/B 127 88 88 1588 445 10 79 111 4 64 637 714 635 156 17 33 794 1143 381 ol 17 3 n4 4 s 1143 381 L 237 9 8 M16X45
RP125 17 33 125 794 305 1143 38.1 81 262 254 55 M16X45
RP127-2 TI1Z27-2/B 127 889 88 1588 508 10 127 159 -1 6.4 637 714 835 156 17 33 794 1143 318 RP127-1 17 33 127 794 305 1143 381 B8 304 234 54 MI1EX45
RP127-2 17 33 127 794 305 1143 381 88 309 362 69 M16X45
RP140-1 T140-1/B 140 108 107 19 S08 127 127 159 5 64 637 714 635 193 21 40 921 1524 38
RP127-2¢14 17 33 127 794 305 114.3 38.1 88 31.06 36.25 7 M16X45
RP140-2 TV40-2/B 140 102 101 286 508 175 145 175 S5 6.4 637 774 635 193 21 40 921 1524 8 RP140-1 2 40 140 921 308 1524 e 107 534 44.3 105 M20XES
RP140-2 2 40 140 921 308 1524 I8 101 68 512 129 M20X6ES
RP140-3 T140-3/B 140 127 126 3175 672 19 175 254 5 6.4 637 714 635 193 21 40 921 1524 38 RP140-3 2 40 140 921 208 152.4 a8 126 1146 594 175 M20X6S

Vitech | 29 30 | Vitech



BUTTON

BUTTON

»COP/LOP 090 INOX XEN GUONG TRANG

* Technical Parameters

Surface Material: Hairline Or Mirow
Istallation: With box, Side Opening

Connection Lop Cascade Multipce

Button: Any Button

* Installation Dimension (mm)

Landing A Landing (Emergency Lighting)
2~14 1090 2~12
15~22 1270 13~20

»COP/LOP 090 INOX XEN GUONG VANG

* Technical Parameters
Surface Material: Glass
Istallation: Hanger

» Installation Dimension (mm)

Landing (Emergency Lighting)

2~14 1300 2~12

Vitech | 31

»COP 281 INOX SOC NHUYEN TRANG/ VANG

* Technical Parameters

Surface Material: Hairline Or Mirrow
Istallation: With box, Side Opening
Connection Lop Cascade Multipce
Button: Any Button

* Installation Dimension (mm)

2~14 1220 2~12

32 | Vitech



BUTTON

»COP/LOP VTBS

* Technical Parameters

Surface Material: Glass
Istallation: With box, Side Opening
Connection Lop Cascade Multipce
Button: Any Button

* Installation Dimension (mm)

Landing (Emergency Lighting)

2~14 a0 2412

»COP/LOP CAM UNG

* Technical Parameters
Surface Material: Glass
Istallation: Hanger

* Installation Dimension (mm)

Landing (Emergency Lighting)

2~14 1300 2~12

Vitech | 33

MADE IN CHINA

BUTTON

MADE IN CHINA

- ‘ ..‘.\

Pry-e=— W
® HPB-01
@ HPB-02
® HPB-11A ® HPB-10
| (<) N1
= |
® HPB-12 * HPB-34

34 | Vitech



y ol

ROTARY ENCODER

MADE IN CHINA

»SOURCE: 8 - 30V/ 1024JRE

C4A6 2.5LSB2/1024-JRE C4A82.5LSB2/1024-JRE EN-F3J6-2.5LSB2/1024-JRE

EN-F3J8-2.5L5B2/1024-JRE HEIDENHAIN ERN1387/2048 EL-B1A30-7LNB1/1024-JRE

el

HEIDENHAIN ERN1313/2048 EN-B1A35-7NB1/1024-JRE EN-A1A40-7NB1/1024-JRE

Vitech | 35

SPARE PARTS

MADE IN CHINA

HS3-1370 switch (NC/NO)

Sensor 61N KCB-R-59121

Cross flow fan 25W/35W

Qil can

JK2038 level switch

Sensor 77NS KCB-R-59122 Pitch Inspection Box

Oil Collector Intercom

36 | Vitech



SPARE PARTS

MADE IH CHINA

Panasonic inverter Monarch inverter UPS Apollo 2kVA

ECHUx0.75mm + 2x2Px0.75mm Spring 0Oil buffer

Door lock Guide Rail Width 10,16mm | Guide fall Jiath 19.16mm
Bistable switch Module ©48/D56/D72 Pulley Motor YVP90-6

Vitech | 37

/ Cong ty ching t6i xin cam két:

San phdm cla céng ty Vitech ban ra déu I& hang chinh hang, dugc
thu mua truc tiép 1t nha may sén xudt, néu phat hién hang gid, ching
161 bdi thudng gdp 10 1&n cho quy khéach.

Vitech chi cung cdp linh phy kién thang mady, khéong cung cdp
nguyén thang.

Tiéu chi clia céng ty Vitech 1 chi cung cdp s&n phdm chét lugng cho
thi trudng Viét Nam, ddm bdo chét Iugng sén phdm tuyét déi.

Vitech déng hanh cing quy khéch hang, ciing nhau chidng kién sy
phat trién clia thj trudng thang may Viét Nam.

" Ban c@n sdn phdm tét, ching téi cho ban gid tét nhat"
" Ban c@n gid tét, chiing téi cho ban sdn phdm tét nhat"



